Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	2244	Date -	site bills	180	07/23
Company Name:	MRMLLF	Chicago and Charles and Charle		G.	MIR.
Name of Contractor	Tayam.	Account to the Public Control of the Public			
Nature of work		caffoldi	ing with	ork	
Work done	From Date	1 31	To Date		1103
Sl. Villa/Flat/block no.	Qty.	Rate	Units Amou	nt OS	Contractors bill no
1. C-block A	7				
2 NO HAT	g 10475	07	SET 7	3325	
3. West Side	of				
5. 5 flat:					
6.					
7.					
8.					
9.	-				
10.					
11.	Total:				
Bill required	IIYES IINO.	GST	pill required	325	NO
Measurement &	Required		rement &	□ Enclose	
estimate sheet:	□ Not required	estima	ite sheet:	□ Not en	
PO/WO no.		PO/W	O date:		
Remarks:					
AU	cooles	don	.0 .		
Approved by Project Mana	ager Appro	ved by Design	Team Ann	roved by N	en I
The state of the s	Date:		Date	-	i.J.
Sign: V	Sign:			-	
Notes: 1. This advice patter in	- But		Sign	L	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable — fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

	POTENTIAL PROPERTY AND INTERCOLOGICAL PROPERTY OF PROPERTY OF THE PROPERTY OF	And a second or settle and a second or second						
MEASUREMENT SHEET								
Company Name	MRMallapur LLP			Approved	9d by	Narander Peddy		
Project	Gulmohar Residency			Sign	1	Tenner I seem to see	1	
Work Description:	Scaffolding work for C block	block		-			1	
Contractor Name:	K Jayamma						1	
Prepared By	N Srinivas							
Date:	26/06/2023							
		>	В	C	0	E= AXBXCXD	7	G=Sum of E
S No. Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Item Head Total
1 C-6/bock.	no 4& 5	95	1	85	1	8075.00	Sft	
Flat no 5 west Side	ide	40.00	1.00	60.00	1.00	2400.00	345	
	Total					10475.00		
		1						
		And in case of the same of the		The state of the s	And the Party of t			

Company Name: MR	MRMallapur LLP				Approved by:	Approved by: Narander Reddy
Project: Gul	Gulmohar Residency				Sign.	
Work Description: Sca	Scaffolding work for C block				9	
Contractor Name: KJ	K Jayamma					
Prepared By N S	N Srinivas					
Date: 26/	26/06/2023					
S No. Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
2 C block Scaffolding			The state of the s			
Flat no 5 west Side	work in South Side flat no 48	10475.00	Sft	7.00	73325.00	
Total	C block Scaffolding work in South Side flat no 48 10475.00 Flat no 5 west Side	10475.00	Sft	7.00	73325.00	
lnv	work in South Side flat no 48	10475.00	Sft	7.00	73325.00	
	ng work in South Side flat no 48 10475.00 Sft 7.00 73325.00 de Total Inwords:Seventy Three Thousand Three Hundred and Twenty Five rupees Only.	10475.00 d Three Hun	Sft dred and T	7.00 wenty Fiv	73325.00 e rupees Only	
	work in South Side flat no 48 al ords:Seventy Three Thousand	10475.00 d Three Hun	Sft dred and T	7.00 wenty Fiv	73325.00 e rupees Only	

Bill for Equipment Allowance

K. Jayammaa. Mallapur Hyderabad

Date: 26/06/2023

In favor of: MR Mallapur LLP
Project / Site: Gulmohar Residency

Location: Mallapur

Type of Work: C Block Scaffolding work
Towards: Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards Scaffolding work for C Block South Side of flat no 4&5 and Flat no 5 west Side. Total Amount = 73325/- Work done from date 21/03/2023 to 05/06/2023 date.	Rs.29330/-

Amount in words: Twenty Nine Thousand Three Hundred Thirty Rupees Only.

Bill for Labour Charges

K. Jayammaa. Mallapur Hyderabad

Date: 26/06/2023

In favor of:

MR Mallapur LLP Gulmohar Residency

Project / Site: Location:

Mallapur

Type of Work:

C Block Scaffolding work Allowance for Consumables.

Towards:

Towards		Amount
	Description Brief description of work done: Towards Scaffolding work for C Block South Side of flat no 4&5 and Flat no 5 west Side. Total Amount = 73325/- Work done from date 21/03/2023 to 05/06/2023 date.	Rs.29330/-
	- 1 1TL:-t-	Dunges Only

Amount in words: Twenty Nine Thousand Three Hundred Thirty Rupees Only.

Sign:	

Allowance for Consumables

K. Jayammaa. Mallapur Hyderabad

Date: 26/06/2023

In favor of: Project / Site: MR Mallapur LLP Gulmohar Residency

Location:

Mallapur

Type of Work: Towards: C Block Scaffolding work Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards Scaffolding work for C Block South Side of flat no 4&5 and Flat no 5 west Side. Total Amount = 73325/- Work done from date 21/03/2023 to 05/06/2023 date.	Rs.14665/-

Amount in words: Fourteen Thousand Six Hundred Sixty Five Rupees Only.